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Released Today! 1.]2016/11 New E. HANABW151 Exam Dumps (PDF and VCE) 99Q& As Downl oad:
http://www.braindump2go.com/e-hanabw151.html 2.]2016/11 New E_HANABW151 Exam Questions and Answers:
https://1drv.ms/b/sl Avl 7wzK f6QBjgQoPVHTRY 2sFeft3 QUESTION 27Which component is not a part of Query Performance
Please choose the correct answer.Response: A.  Reading from a DSO is faster, due to the columnar storage and parallel execution
of read processes.B. Flat InfoCubes contain master data SIDs directly in the fact tableC. Data Activation uses the Delta Merge
mechanism of the SAPHANAD. Calculations and aggregations are faster, since they are evaluated by the database server instead
of the application server. Answer: C QUESTION 28What information Y ou can acquire from the font and the color of the text? There
are 3 correct answersto this question.Response: A.  Black text: Normal provider fieldsB. Red text: All time availabilityC. Grey
text: UsersD. Bluetext: JoinfieldE. Italic text: Calculated characteristic and constant Answer: ADE QUESTION 29The SAP
HANA ?0ptimized infocubes consist of main Properties. What are they? There are 3 correct answers to this question.Response: A.
Need a second DTP for regular movementsB.  All newly created infocubes are SAP HANA optimizedC. Choose Execute. The
InfoCubes are convertedD. The SIDs are directly written to the fact tableE. BW accelerator obsolete Answer: BDE QUESTION
30Which of the following are data modeling conceptsin SAP BW 7.4? There are 2 correct answers to this question.Response: A.
Script-based modelingB.  Process-oriented modelingC.  Field-based modelingD.  InfoObject-based modeling Answer: CD
QUESTION 31What are the main functions of BW Open Services?There are 3 correct answers to this question.Response: A.  EPM
ModelB. DataModelC. DB connectionsD. DataAgingE. Authorization Answer: BDE QUESTION 32What problem occurs
If datais classified incorrectly, and is used frequently In hardware sizing of SAP HANA DB?Please choose the correct answer.
Response: A.  Non- activedataB. IndexesC. DatabaseD. Main memory management Answer: D QUESTION 33What are the
outcomes of a Web-based working environment for business users? There are 3 correct answers to this question.Response: A.
Making indexed InfoProviders from the BW system available in the Workspaces.B.  Assigning authorizations for workspaces and
data from the BW system.C. Creating and monitoring workspaces.D. The Composite Provider has been saved and activated.E.
The Composite Provider has been saved as a Draft but not activated yet. Answer: ABC 'RECOMMEND!!!
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